EARAZROREIERT — 2 N—XBISY —F 2012588 27H (B) 9EXAFH1H

m EX L8R YIR3R (xwlw | lmEmml - |5 ) 0w 8
[A&4£] 1 7% :1,800,000  ~ 23 :630,000 @ 33 :360,000 ~ 4 3#&:270,000 @ . 5 7 :180,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o RN . RFES : -1-1- — B (K
111l by THTHS =X 4 3 56%% 1.(4_9).9 1-1-1-1 | 37.9 2 ;1:317) img’gﬁ( F)
Lid—WRKFPYz— B:hyTFafR HET 7 — L
S o . T ANElsE :50. -3-3- . — BEfE= (KH#)
218l13 K3 h by — # 3 4 1(75(1):5) 3-3-3-3 | 37.9 8 (5+151) ca—
R:FaN—hbU— B:IREAY KA
= . it 3 | FIBEX 1:50.6 4-5-6-4 |38.2| — 1 462 | EEEIESS (KFH)
3lglip| R¥H<¥Z—K g 56.0 3) (s |EHR
L:aZ/F¥LLy b BIARZXHLY Y4 T 57— L
. i 3 | EBAH 1:51.1 7-9-7-6 |38.5| — 3 504 | EAEST (KFH)
417010/ 7T AR—A 56.0 (2 1/2) (+4) | ERIBE—EB
:7v3I7—-L B:3FI/ErO- A EEE
i s o o3 | AR 1:51.2 8-6-4-6 |38.8| — 4 450 | EBAMEZ (J111)
50711 7V —>KTW 56.0 (172) 4y | EEEE
vy /by THY BiA14o 3974 )R =e]
# 3 | BmES 1:51.3 2-2-2-2 |39.3| — | 11 | 488 |EEAMLE (KIH)
N : BIEXES 54.0 (76 (3 | PEAE
R:&¥2Y3> By arFvl— RSP ESIS
N N 1L B : -10-10- — FIMZE (KH)
7 0| TFA =% 3 e 1(751!:;1 10-10-10-10 38.3 9 (4_621) i
LA —~NIR B:54714T) € Kigh i
o TN ft 3 | AEEX 1:51.7 9-8-9-8 |38.6| — 10 | 444 |BAAE (KFH)
sd4| E-7EVa> 54.0 (1 1/2) © | @ 77-2rEvar
L:—A7O— B:7RO7ZRKISIL SRS
. # 3 | RE#EZ 1:51.9 11-11-8-8 | 38.9| — 12 | 417 |FARE (XH#)
957 A—-L>A7zx 56.0 (1 1/4) o) LSS
R:A—JIHT7 B:A-LIPF/IN— BEHEHPHE
S LS i 3 | BEXE 1:51.9 13-12-12-11{ 38.6 | — 5 474 | BRAR—R (KFH)
Eﬂ 5 (AN =R 54.0 (75%) w | FHOBH
L:4¥2Y3AY B:T7YTAAXTaAt— RAHSS
N e =3 SEER : 44— — dBHE ()
1lslel v—xv71 i 3 oy 1.(542).8 6-4-4-5 | 40.4 7 zzg()) ﬁ#iﬂﬂl\
XX+ TTLRT71—7 B:Ua1XbL PR ¢l
N ® FiEL : -7-13- — ERER (KH)
12 PAEAYA 2= H 3 & 1.(533;.4 5-7-13-13 | 39.9 6 (4+810) LR
Rib—t>4> X B:H/Aaynx pinEvie]
N FmE .53 —12-10- . — fE2 KRB (KFH)
13 g|E—T>TUr 2 % 3 fan 1(15/32>5 12-12-10-11| 40.4 13 ;1):48) o
L:a-—I> UL B:TUStEAELA EEL e
® I—F—@EBIERL
13—7F— 1,3,13,12,8,6,10,11,4,2,7,9,5
230—7+— |[1,3,13,6,12,11,8,4,10,2,7,(5,9)
G=7"= 1,3,13,(6,11),12,10,7,4,(2,9) ,5,8
40—+ — 1,3,13,12,6, (10,11), (4,7),2, (5,9) ,8
[ RN
-y 1 380 | | A K 1-13 1,490 | | # = 1-8 470M | | =& | 1-12-13 3,760M
7 B 1 160 1-12 310 | | #& B 1-8 1,020 | | &8 [ 1-13-12 32,020/
13 420M 12-13 980M B = 1-13 4,170
12 1809 B H 1-13 6,720M

ABICOVWTRDTEEERROODE. TR LIV,



